Glasgow City Council

Transfers Report

This report contains the transfers results.

Contest Name	Ward 20 Baillieston
Valid Votes	7,255
Positions to be Filled	3
Quota	1,814

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
John DALY	Scottish Conservative and Unionist	1,206
Tony HUGHES	Scottish Liberal Democrats	205
Ryan KELLY	Scottish Greens - Delivering For Our Community	298
Alex KERR	Scottish National Party (SNP)	1,723
Kevin John LALLEY	Glasgow Labour	2,209
Lauren MARTIN	Scottish National Party (SNP)	1,046
Mary MCNAB	Glasgow Labour	568
	Total	7,255

Candidate Kevin John LALLEY Elected with 2,209 votes, being in excess of the quota of 1,814

This report contains the transfers results.

Stage 2 - Surplus of Kevin John LALLEY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John DALY	93	0.17881	16.62933
Transfer to Tony HUGHES	36	0.17881	6.43716
Transfer to Ryan KELLY	33	0.17881	5.90073
Transfer to Alex KERR	74	0.17881	13.23194
Transfer to Lauren MARTIN	57	0.17881	10.19217
Transfer to Mary MCNAB	1,757	0.17881	314.16917
No further preference	159	0.17881	28.43079
Not transferred due to rounding			0.00871
	Total		395.00000

This report contains the transfers results.

Stage 3 - Exclusion of Tony HUGHES

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John DALY	36	1.00000	36.00000
Transfer to Ryan KELLY	43	1.00000	43.00000
Transfer to Alex KERR	10	1.00000	10.00000
Transfer to Lauren MARTIN	8	1.00000	8.00000
Transfer to Mary MCNAB	54	1.00000	54.00000
Transfer to John DALY	6	0.17881	1.07286
Transfer to Ryan KELLY	5	0.17881	0.89405
Transfer to Mary MCNAB	20	0.17881	3.57620
No further preference	54	1.00000	54.00000
No further preference	5	0.17881	0.89405
Not transferred due to rounding			0.00000
	Total		211.43716

This report contains the transfers results.

Stage 4 - Exclusion of Ryan KELLY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John DALY	19	1.00000	19.00000
Transfer to Alex KERR	112	1.00000	112.00000
Transfer to Lauren MARTIN	90	1.00000	90.00000
Transfer to Mary MCNAB	56	1.00000	56.00000
Transfer to John DALY	1	0.17881	0.17881
Transfer to Alex KERR	7	0.17881	1.25167
Transfer to Lauren MARTIN	1	0.17881	0.17881
Transfer to Mary MCNAB	14	0.17881	2.50334
No further preference	64	1.00000	64.00000
No further preference	15	0.17881	2.68215
Not transferred due to rounding			0.00000
	Total		347.79478

This report contains the transfers results.

Stage 5 - Surplus of Alex KERR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lauren MARTIN	1,625	0.02446	39.74750
Transfer to Mary MCNAB	48	0.02446	1.17408
Transfer to Lauren MARTIN	30	0.00437	0.13110
Transfer to Mary MCNAB	32	0.00437	0.13984
No further preference	150	0.02446	3.66900
No further preference	19	0.00437	0.08303
Not transferred due to rounding			0.00094
	Total		45.48361

This report contains the transfers results.

Stage 6 - Exclusion of Mary MCNAB

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John DALY	161	1.00000	161.00000
Transfer to Lauren MARTIN	148	1.00000	148.00000
Transfer to John DALY	390	0.17881	69.73590
Transfer to Lauren MARTIN	234	0.17881	41.84154
Transfer to John DALY	5	0.02446	0.12230
Transfer to Lauren MARTIN	21	0.02446	0.51366
Transfer to Lauren MARTIN	16	0.00437	0.06992
No further preference	369	1.00000	369.00000
No further preference	1,167	0.17881	208.67127
No further preference	22	0.02446	0.53812
No further preference	16	0.00437	0.06992
Not transferred due to rounding			0.00000
	Total		999.56263

This report contains the transfers results.

Stage 7 - Exclusion of Lauren MARTIN

1,384.67470

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John DALY	328	1.00000	328.00000
Transfer to John DALY	112	0.17881	20.02672
Transfer to John DALY	345	0.02446	8.43870
Transfer to John DALY	20	0.00437	0.08740
No further preference	964	1.00000	964.00000
No further preference	180	0.17881	32.18580
No further preference	1,301	0.02446	31.82246
No further preference	26	0.00437	0.11362
Not transferred due to rounding			0.00000
	Total		1,384.67470